					Contract Nu	ımber		Page of Pages		
AMENDMENT OF SOLICITATION / MODIFICATION OF CONTRAC					NTRACT	CFOPD-19	9-C-003	1	4	
2. Amen	dment/Modification Number	3. Effecti	ve Date	4. Requisition/Purchase Request No. 5. Solicitation Caption				-		
					•		·			ebt Collection
Modification 13 See box 16C below							Services			
	6. Issued by: Code 7. Administered by (If other than line 6)									
Office	of the Chief Financial (	Officer					e and Treasur			
Contra	cts and Procurement			- 1	Gove	rnment of	the District of	Columbia	a	
1100 4	th Street, SW - Suite E	620			1101	4th Street,	SW, 8th Floo	r		
Washi	ngton, D.C. 20024			7	Wasł	nington, DO	C 20024			
					(202)	727-0760				
8. Name	and Address of Contractor (N	No. street, c	ity, county, state and zip co	ode)		9A. Amen	dment of Solicitat	tion No.		
Harris	& Harris, Ltd.					9B. Dated	(See Item 11)			
	est Jackson Blvd, Suite	400			<u> </u>	404 14 11				
	go, IL 60604	400			Ix		fication of Contra	ict/Order No.	-	
_					^		-19-C-003			
	Arnold Harris					CIOID	-17-0-003			
	aharris@harriscollect.c	<u>om</u>								
Teleph	ione: (312) 423-7400									
Code		_	acility			10B. Date May 21, 20	d (See Item 13)			
Code			IIS ITEM ONLY APPLIES	S TO	AMEN	, ,		S		
The	above numbered solicitation is a								ад П і	is not extended
	ust acknowledge receipt of this									
(a) By co	ompleting Items 8 and 15 and re	eturning	copies of the ame	ndme	nt: (b)	By acknowled	ging receipt of this	amendment	on each	copy of the offer
	d; or (c) BY separate letter or fa ED AT THE PLACE DESIGNAT									
	FFER. If by virtue of this amen									
makes re	eference to the solicitation and t	his amendn	nent, and is received prior t					,,		<u> </u>
12. Acco	ounting and Appropriation Dat	a (If Requir	red)							
			EM APPLIES ONLY TO							
	A This shange order is issue		DIFIES THE CONTRACT	/ORL	DER N	O. AS DESCI	RIBED IN ITEM 1	4		
	A. This change order is issu The changes set forth in			der no	o. in ite	em 10A.				
	B. The above numbered con etc.) set forth in item 14, p							in paying off	fice, app	propriation data
	C. This supplemental agreer					oo, and occin	511 500 1.2.			
	D. Other (Consider towns of mos	-l:£:4:	اد بانده داند د							
X	X D. Other (Specify type of modification and authority) 27 DCMR Section 2005.2(b) and Section I.8 of the Contract									
E. IMPORTANT: Contractor is Or is not is required to sign this document and return _1_ copies to the issuing office.										
14. Description of Amendment/Modification (Organized by UCF Section headings, including solicitation/contract subject matter where feasible.)										
14. Description of Amendment/wouldcatton (Organized by OOF Section neadings, including solicitation/contract subject matter where leasible.)										
This contract identified in Block 10A above is hereby modified as described in page 2, Attachment A:										
This constact identified in Brook 1971 above is notedy incomed as described in page 2, 1 traciment A.										
	A	ALL OTE	HER TERMS AND C	CON	DITI	ONS REMA	AIN UNCHAN	GED		
Except a	Except as provided herein, all terms and conditions of the document is referenced in Item 9A or 10A remain unchanged and in full force and effect.									
15A. Na	me and Title of Signer (Type	or print)		16A. I	Name	of Contracting	Officer			
DAVID PETERS CEO						iggins, CP	PO, CPPB			
15B. Name of Contractor 15C. Date Signed 16						t of Columbia				16C. Date Signed
A			mll- 1			Deale	11/20			
γ	Signature of person author	ized to sign)	3/15/24			v riku	us Wiggu (Signature o	f Contracting Of	ficer) C	04/25/2024

## **Attachment A**

- 1. In accordance with 27 DCMR Section 2005.2(b), the District hereby extends the Contract for one (1) six (6) month period of May 21, 2024, through November 20, 2024, in the maximum amount of \$2,603,078.00.
- 2. The District, at its sole discretion, may further extend the period of this contract for up to two (2), three (3) month option periods, each in the maximum amount of \$1,301,539.00, if exercised. The District may exercise an option by written notice to the Contractor before expiration of the contract. The preliminary notice does not commit the District to an extension. The total not to exceed amount for the extension of the contract for twelve (12) months, in the event that all options are exercised, is \$5,206,156.00.
- 3. The pricing for the extension and option periods shall be in accordance with Sections B.3.14 through B.3.16 (Item 4 below).

## 4. INSERT:

B.3.14 Contract Extension Period May 21, 2024, through November 20, 2024 Delinquent Collection Services

Contract Line-Item No. (CLIN)	Item Description	Estimated Revenue Collected	Contingency Fee (%) Based on Actual Collection	Extended Total
51	Delinquent Collection Services for Debt and Legacy Debt	\$27,500,000.00	9.25%	\$2,543,750.00
CLIN	Item Description	<b>Estimated Quantity</b>	<b>Unit Price</b>	<b>Extended Total</b>
54	Transfer of Non-electronic Documents	1,200,000.00 keystrokes	\$0	\$0
55	System Maintenance	6 months	\$3,250.00	\$19,500.00
56	Forward Flow Skip	54,000.00 hits	\$0.40	\$21,600.00
57	On Going Programming & Meeting	67.50 hours	\$248.00	\$16,740.00
58	Administrative (A&F/invoicing)	6 Months	\$248.00	\$1,488.00
<b>Grand Total</b>	\$2,603,078.00			

**B.3.15** Contract Extension Option Period 1: November 21, 2024, through February 20, 2025 Delinquent Collection Services

Contract Line-Item No. (CLIN)	Item Description	Estimated Revenue Collected	Contingency Fee (%) Based on Actual Collection	Extended Total
61	Delinquent Collection Services for Debt and Legacy Debt	\$13,750,000.00	9.25%	\$1,271,875.00
CLIN	Item Description	<b>Estimated Quantity</b>	<b>Unit Price</b>	Extended Total
64	Transfer of Non-electronic Documents	600,000 keystrokes	\$0	\$0
65	System Maintenance	3 months	\$3,250.00	\$9,750.00
66	Forward Flow Skip	27,000 hits	\$0.40	\$10,800.00
67	On Going Programming & Meeting	33.75 hours	\$248.00	\$8,370.00
68	Administrative (A&F/invoicing)	3 months	\$248.00	\$744.00
Grand Total	\$1,301,539.00			

## B.3.16 Contract Extension Option Period 2: February 21, 2025, through May 20, 2025 Delinquent Collection Services

Contract Line-Item No. (CLIN)	Item Description	Estimated Revenue Collected	Contingency Fee (%) Based on Actual Collection	Extended Total
71	Delinquent Collection Services for Debt and Legacy Debt	\$13,750,000.00	9.25%	\$1,271,875.00
CLIN	Item Description	<b>Estimated Quantity</b>	<b>Unit Price</b>	Extended Total
74	Transfer of Non-electronic Documents	600,000 keystrokes	\$0	\$0
75	System Maintenance	3 months	\$3,250.00	\$9,750.00
76	Forward Flow Skip	27,000 hits	\$0.40	\$10,800.00

## CFOPD-19-C-003 - Delinquent Debt Collection Services

Modification No. 13

77	On Going Programming & Meeting	33.75 hours	\$248.00	\$8,370.00
78	Administrative (A&F/invoicing)	3 months	\$248.00	\$744.00
Grand Total		\$1,301,539.00		

<sup>\*</sup>The District does not guarantee that the Contractor will receive the estimated quantity. The estimated quantity for "Delinquent Collection Services" is in terms of estimated revenue derived from collection services.

<sup>5.</sup> U.S. Department of Labor Wage Determination No. 2015-4281, Revision No. 28, dated December 26, 2023, is made part of this contract.